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NEW QUESTION 1
What are three well-known mandatory BGP attributes? (Choose three.)

A. next hop
B. origin
C. community
D. MED
E. AS path

Answer: ABE

NEW QUESTION 2
Exhibit

Referring to the exhibit, how do you verify the status of the tunnel from R1?

A. Issue the ping 172.20.111.10 source 172.20.110.1 command.
B. Issue the ping 172.20.111.10 source 198.51.100.1 command.
C. Issue the ping 172.20.iii.io source 203.0.113.2 command.
D. Issue the ping 172.20. Il
E. 10 command.

Answer: C

NEW QUESTION 3
Which two statements are correct about the way that BGP propagates routes by default? (Choose two.)

A. A route learned by EBGP will be re-advertised to IBGP peers.
B. A route learned by IBGP will not be re-advertised lo IBGP peers.
C. A route learned by EBGP will not be re-advertised to IBGP peers.
D. A route learned by IBGP will be re-advertised to IBGP peers.

Answer: CD

NEW QUESTION 4
Which two LSA types are permuted in OSPF totally stubby areas? (Choose two.)

A. Type 1
B. Type 3
C. Type 5
D. Type 7

Answer: CD

NEW QUESTION 5
Which two statements are correct when using LDP? (Choose two.)

A. The lnet.3 table will contain only the paths explicitly defined.
B. The inet.3 table will contain a full mesh of label-switched paths to other LDP-enabled routers.
C. LDP label-switched paths are created by configuring LDP on at least one physical router interface.
D. LDP label-switched paths are created by configuring LDP on the loopbacK Interface.

Answer: BC

NEW QUESTION 6
Exhibit

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version JN0-363 Questions & Answers shared by Certleader
https://www.certleader.com/JN0-363-dumps.html (65 Q&As)

Which prefix in the output shown in the exhibit is an external prefix injected by an OSPF router?

A. 192.168.1.3
B. 172.18.1.0/24
C. 192.108.1.4
D. 172.26.4.0730

Answer: D

NEW QUESTION 7
Exhibit

You are asked to configure OSPF between routers R1 and R2 using IPv6 addresses. Which two tasks will accomplish your objective? (Choose two.)

A. Issue the sec protocols ospf area 0.0.0.0 interface ge-0/0/1.0 command.
B. Under the [edit routing-options] hierarchy, configure a 32-bit router ID.
C. issue the set protocols ospf3 area 0.0.0.0 interface ge-0/0/1.0 command.
D. Under the [edit routing-options] hierarchy, configure a 128-bit router ID.

Answer: AD

NEW QUESTION 8
Exhibit
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The routers shown in the exhibit are configured for segment routing.
In this scenario, what is the adjacency SIO that Router B advertises to Router A?

A. 12
B. 10.1.1.1
C. 10.1.1.2
D. 11

Answer: B

NEW QUESTION 9
Exhibit

Referring to the exhibit, internal BGP between R1 and R2 is not establishing. What is the problem In this scenario?

A. R1 does not have a route to 192.168.200.2.
B. R1 and R2 must each have unique AS numbers.
C. R1 needs to be configured with an explicit router ID.
D. R1 needs to be configured with a next-hop self policy.

Answer: A

NEW QUESTION 10
Exhibit

Referring to the exhibit, which two additional steps should you lake to fully configure NSR? (Choose two.)

A. You should configure the max period for NSR precision timers.
B. You must configure GRES.
C. You must configure graceful restart.
D. You should configure commit synchronization.

Answer: AB
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NEW QUESTION 10
Exhibit

You configured interface ge-0/070.0 to run IS-IS. but this interface does not appear in the output of the show isis adjacency command as shown in the exhibit.
What is the problem in this scenario?

A. This is a Gigabit Ethernet interface, that is incompatible with the reference-bandwidth 100g statement.
B. The family iso statement must be added to the logical interface.
C. The router at the other end of the link Is not sending any IS-IS Hello messages.
D. The router at the other end of the link is a Level 1 only router.

Answer: B

NEW QUESTION 13
Which configuration selling prohibits a static route from being redistributed by a dynamic routing protocol?

A. route-filter
B. no-readvertise
C. qualified-next-hop
D. passive

Answer: B

NEW QUESTION 15
You are bringing a new network online with three MX Series devices enabled for STP. No root bridge priority has been configured. Which statement is true in this
scenario?

A. The device with the lowest MAC address will be elected as the root bridge.
B. The device with the highest MAC address will be elected as the root bridge.
C. The device with the lowest numerical lo0 IP address will be elected as the root bridge.
D. The device with the highest numerical lo0 IP address will be elected as The bridge.

Answer: A

NEW QUESTION 16
Exhibit
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You are asked to configure the OSPF environment to prevent the DRother routers from participating in DR/BDR election.
Referring to the exhibit, which command will accomplish this task?

A. set protocols ospf area 0.0.0.0 interface ge-0/0/l priority 255
B. set protocols ospf area 0.0.0.0 interface ge-0/0/1 priority 0
C. set protocols ospf area 0.0.0.0 interface ge-0/0/1 interface-type nbma
D. set protocols ospf area 0.0.0.0 interface ge—0/0/1 interface-type p2p

Answer: A

NEW QUESTION 21
Exhibit

Which type of load balancing is shown in the exhibit?

A. elastic load balancing
B. per-packet load balancing
C. per-flow load balancing
D. network load balancing

Answer: D

NEW QUESTION 24
Which two statements ate correct about the community BGP attribute on a Junos device? (Choose two.)

A. The community attribute is a mandatory BGP attribute.
B. If the community attribute is present, it is ignored and deleted in the BGP updates.
C. If the community attribute is present, it should be passed unchanged in the BGP updates.
D. The community attribute is an optional BGP attribute.

Answer: AC
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NEW QUESTION 25
Exhibit

Referring to the exhibit, which two statements are correct? (Choose two.)

A. Prefixes in Level 1 will be redistributed to Level 2.
B. Prefixes In Level 2 will be not redistributed to Level 1.
C. Prefixes in Level 2 will be redistributed to Level 1.
D. Prefixes in Level 1 will not be redistributed to Level 2.

Answer: C

NEW QUESTION 26
Exhibit

You have configured graceful RE switchover (GRES), however you cannot complete the show system switchover command.
Referring to the exhibit, what is the problem?

A. The command is only available if non-stop routing is enabled.
B. The command is only available on the backup Routing Engine.
C. The command is only available If a backup router is configured.
D. The command is only available If graceful restart is enabled.

Answer: B

NEW QUESTION 29
Exhibit
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The LSP is not establishing correctly.
Referring to the exhibit, what should you do to solve the problem?

A. Enable traffic engineering for the OSPF protocol.
B. Enable traffic engineering for the IS-IS protocol.
C. Enable traffic engineering for the BGP protocol.
D. Enable traffic engineering for the RSVP protocol.

Answer: D

NEW QUESTION 30
You are asked to configure an LSP which uses the OSPF link state database for path computations. Which two statements are correct in this scenario? (Choose
two.)

A. You must use the no-cspf parameter in the label-switched-path configuration.
B. Traffic engineering extensions ate enabled by default In OSPF.
C. Traffic engineering extensions are not enabled by default in OSPF.
D. You must use the policing parameter in the label-switched-path configuration.

Answer: AC

NEW QUESTION 34
......
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